Chapter 6 
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Figure 1

In Figure 1

1.
How much is investment when disposable income is 2000?

2.
How much is investment when disposable income is 4000?

Figure 2
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In Figure 2

3.
How much is investment when disposable income is 6000?

4.
How much is investment when disposable income is 9000?

5.
If a corporation has $10 billion in preferred stock, $20 billion in common stock, and $40 billion in bonds,


(a)
How much is its capitalization?


(b)
Theoretically, how much would it take to control it?


(c)
Practically, how much would it take to control it?

6.
If a corporation has $400 million in common stock, $200 million in preferred stock, and $500 million in bonds,


(a)
How much is its capitalization?


(b)
Theoretically, how much would it take to control it?


(c)
Practically, how much would it take to control it?

Table 1

Date
Level of Inventory
January 1, 2004
$400 million

April 1, 2004
 430 million

September 1, 2004
 385 million

December 31, 2004
 395 million

7.
Given the information in Table 1, find inventory investment in 2004.

Table 2

Date
Level of Inventory
January 1, 2006
$75 million

July 1, 2006
93 million

December 31, 2006
86 million

8.
Given the information in Table 2, find inventory investment in 2006.

9.
If gross investment is 1200 and depreciation is 400, find net investment.

10. If net investment is 1500, indirect business taxes are 300, and depreciation is 500, find gross investment.

11. (a) How much was Gross Investment in 1929?

(b) How much did it fall to by 1932?

Hint: You’ll find the data in the inner front cover of the book.

